




M M M = 2 k k
L
1×L

X = a + m 1 a
1



X =     m⋅ 1 +     a
= 4⋅( 1,1,1,1,1) + ( 1,2,3,4,5)
= ( 5, 6, 7, 0, 1)



m⋅ 1 =     X -     a
= ( 5, 6,7,0,1) - ( 1,2,3,4,5)
= ( 4,4,4,4,4)

X = γ β + m 1 β = ( 1, β, β 2, β 3, ⋯ β ( L - 1 ) )
β 2 k
γ
m



L < 2 k L L- 1



f H ( R ) = { 0,      0 ≤ R ≤ T H1,      T H < R < ∞

f S ( R ) = { R,      0 ≤ R ≤ T ST S,      T S < R < ∞



D k k = 1, 2, 3, …, K
n ( 0 )k D k

s s = 1, 2, 3, …, s max :
T k, i 1 ≤ i ≤ n ( s - 1)k

B ( s ) b ( s )ml

b ( s )m, l = ∑Kk = 1 ∑n k
( S - 1 )

i = 1
t ( k, i )m l

n ( s - 1 )k > 1 D ( s )k B ( s )

D ( s )k













P b≤ 10 - 3



P b≤ 10 - 3
P b≤ 10 - 4



P b≤ 10 - 3
P b≤ 10 - 4








